4V t8 / External view

D view

P
i
™

196

E vi HEBAZA / Components
view No. &R / Part name = / Pcs #E / Material - REWIE / Color-Finish
1 $H/3— / Cover 1 #% SECC / Steel t1.0 SECC 7594 / Black
[_‘ S S—— 2 |¥xv—¥ /Base 1 7 JLSAR /Aluminium A1050P t1.5 | 75v% / Black
).:y_ Y:.{ 3 3—7+—H—K / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
M) 4 BFE RGRANRFRILIMS x 8) 18 E73 ZEE/nA—+
screw (Hexagon socket head M4 - 8) steel Black trivalent chromate
5 HYZF / Carrying Handle 1 PU. PA. ABS. Steel 75w% / Black
= 6 BFERAER (FREYE S M5 x 8) 4 E3 =Effoai—k
N screw (Panhead tapping M5 - 8) Steel Trivalent Chromate
MAN—E2v—L DETMEFBUETY , / Inner side of cover and base are conductivefinished.
—/
N /i
i =
26
ST
A view C view
o
5 °’.
SLEE —1 éﬁ(-—]
1 ") m 1 P
i~ et > N
3 o | |
— — | |
| |
L[ ] ™ i [ k -===ﬂﬂﬂ.ﬂﬂﬂ===“=ﬂﬂ.ﬂﬂﬂﬂ====- AT ]
[ | ] 2 o it ————
—— = =7 et
260 300
43 190 43 43 230 43
276 316
F view

PN
N

{Ej

KA—F—H—FRIT—REXMOTYT

X Corner guard should fasten together with enclosure when assembling.

[TAKACHI] #X&#tahFEHIE

itk (BUFEXREDOQ) / Color Type (End of product numberd)

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
a—F—H—RfFr—2
METAL CASE with CORNER GUARD

o]

25 / Code ZA{K / Body O—F—AH—FK / Comer guard | ERF / Carrying Handle
BBB 75v7% / Black 75974 / Black J35v% / Black
BGB 75v% / Black 4'L— / Gray 75v% / Black
BNB 7594 / Black FAE— / Navy 75v% / Black
BRB 75v7% / Black LYk / Red J5v% / Black

A& 55 /Approved

iR

#&[X/Checked #I[X]/Created

1% | £

#F /Product number

MCG26-18-30B[1[]

RFE/Scale
1:6

{EBL B /Date 2018/11/13




$H/\— / Cover E view

15

6-@5.5

4-M4x0.7/N—1) 5 T
4-M4x0.7Burring

15

D view A view

180

F view

15

15

260

127.5 28

28

13

G(2:1)

™
<
3
C view B view
2-M4x0.7/N\—1)> 4 inT
2-M4x0.7Burring

15 15

Ip)

G
- SEEE5E0808E58h! EEEEEEEEEEE@ o
50 200 50
EHEBLE
300 Inside Conductivefinished
md/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG26-18-30BL1 L1

RFE/Scale
1:5

{EBL B /Date 2018/11/13

2 /3




x—/ / Base

D view

©
M4x0.7/3—1) 4T
4-M4x0.7Burring
©
A view
EHEERNE
Inside Conductivefinished
m_
o)
~
F view

E view

13.9 13.9
ol I
_| |_

206.6
2578

12

12

B view

C view

10 10
2-M4x0.7/.\—") >4 T
2-M4x0.7Burring

o~
o 53 e
15 15
300
fn4a/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG26-18-30B

RFE/Scale
1:5

{EBL B /Date 2018/11/13

37/ 3




